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Application of Error-Ensemble Method to a Short-term Rainfall Prediction
with Transration Model Considering Orographic Rainfall

O — -

EHRAAAEL « F LA I

OEiichi NAKAKITA, Tomohiro YOSHIKAI, Sunmin KIM

A physical approach jointed with a stochastic error simulation is introduced to improve prediction accuracy of a
radar image extrapolation model, translation model, especially for the orographic rainfall prediction. In the
physical approach, stagnated rain-band on a mountain roof was estimated with additional atmospheric variables
and separated while the rain-bands were translated. To consider other prediction error sources in the translation
model, certain duration of prediction error was monitored and stochastically simulated for the forehead prediction.
Improving the separation accuracy of the stagnated rain-band using the monitored error is also considered.
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